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OMB SYNOP U (All: 1242)

mean: 0.4787 rms: 1.5428 std: 1.4666
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OMB SYNOP U (Used: 662)
mean: 0.8982 rms: 2.1132 std: 1.9128

° A S I 2 & .
S0°N “'%\,yy_w'..méts:mu;iatlon;.com A Bo°N
AR A A I A D e

40°N |ivwe =/ e 40°N

30°N i 30°N

20°N [--..x { 20°N

10°N 1 10°N

AN

80°E 90°E 100°E 110°E 120°E

o -4<=x<-3 -1<=x<0 2<=X<3 ® 5<=x<10
® -10<=x<-5 -3<=x<-2 O<=x<1 e 3<=x<4
® -5<=x<-4 o -2<=x<-1 1<=x<2 ® 4<=x<5

OO




OMA SYNOP U (Used: 662)
mean: 0.2023 rms: 1.1518 std: 1.1339
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OMB SYNOP V (All: 1242)
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OMB SYNOP V (Used: 680)

mean: 0.3322 rms: 1.9062 std: 1.8770
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OMA SYNOP V (Used: 680)
mean: 0.1660 rms: 1.2010 std: 1.1895
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OMB SYNOP T (Used: 1006)
2.6413 std:
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OMA SYNOP T (Used: 1006)
mean: -0. 2960 rms 17730 std: 1.7481
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OMA SYNOP Q (Used: 852)
mean: 0.8406 rms: 1.8786 sid: 1.6801
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mean: -0.0154 rms: 1.0368 std: 1.0367
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mean: -0.0281
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